PuUSRY 3ssembly
Instructions

@
S 9
ctive play 5°

wooden double
SWINQ

assembly requires 2 adults
(approx. 1 hour assembly time)

EFSC

www.fsc.org
F8C® C021153

WARNING! Not suitable for children under 36 months - fall hazard/small parts
-choke hazard. Max user age 10 years. Min user age 3 years. Max user weight
50kg. Only for domestic use. Outdoor use only. Adult assembly required.
Adult supervision recommended at all times.






Advisory Section

To ensure the safety of you, the installer, and your children, it is important that these instructions are read fully
before commencing the positioning and installation of this product.

Tip: Do not fully tighten all bolts until instructed at the relevant assembly stage.

S afety

This product has been designed and tested to rigorous European Safety Standards to ensure the safety and security of children using this product.
It has been designed and manufactured for:

Domestic outdoor use only and must not be installed within a public area such as a school, public house garden, communal play area, etc.
Children between the ages of 3 years and 12 years old whilst being supervised by a responsible adult
Installation on a flat surface (slope less than 2%), otherwise there may be a risk of instability

Installation on a suitable surface (i.e. it should not be installed over concrete, asphalt, tarmac or any other hard or broken surface)

NERNEN

Use within a clear area where the nearest obstruction (fence, tree, laundry line, cable, etc.) is more than 2 metres away.This distance should be
measured from the furthest point of the play set (i.e. the bottom of any slide or a swing at maximum extension)

4] Consider position of playcentre as the slide (if supplied) will become hot under direct sunlight

Note: Whilst there are no metal surfaces that could become excessively hot in the sun, it may be appropriate to ensure that the slide chute is not facing the main
direction of sun to prevent the surface being uncomfortably warm in play. Maximum user weight 50Kg.

Finally, the safety of children using this product is your responsibility. It is advised that children are supervised at all times. Do not allow children to wear loose
articles of clothing (i.e. tassels or loose hair) when using item else a possible entrapment may occur. Care must be taken to use the equipment for its intended
purpose, i.e. do not allow children to climb onto items not designed for that purpose, as injury may result.

Timber Advice

This product has been made from premium timber. Great care has been taken in selecting, treating and machining the timber before it is presented to you.
Timber is a natural product and as such may experience changes throughout the course of its life. This means it may:

M Develop openings (gaps, slits, apertures, cracks, splits) along the line of the grain. These openings are due to the difference in moisture content between
the internal and outer surfaces of the timber. This is to be expected, is totally acceptable and will not affect the integral strength, life or guarantee of the
product.

[¥] Warp and distort its shape. Any distortion will be slight and will not affect the safety or enjoyment of this product.

Fade as the timber reacts with sunlight. The timber should be treated with a proprietary product to act as a protective barrier, i.e. a water repellent, on an
annual basis.

Biocidal Products Regulations EU 528/2012
Wolmanit Cx treated wood is a treated article that incorperates biocidal products:
copper hydroxide carbonate /Il/and boric acid. They protect wood against decay /rot/ and insect attack. keep away from food, drink and animal feeding stuffs.

R outine Maintenance

It is advised that on a regular basis (i.e. at the beginning of the season and monthly thereafter) all main parts/ fixings are checked as secure, well oiled (if metallic),
have no sharp points/edges and are intact. Replace, oil and/or tighten when necessary. Failure to do so may result in an injury or hazard.

Any attachments such as swings, chains, ropes, etc must be regularly examined for evidence of deterioration. Replace any attachments if there are signs of
deterioration. Failure to do so may result in an injury or hazard.

During long periods of non-use (particularly during the winter) it is suggested that attachments such as swings are dismantled and stored in a dry environment.
This will prolong the life of such attachments.

Remember to keep these instructions in a safe place for future reference.

Plum Products Ltd, Plum Products Australia Pty Ltd

The Cliff, Middle Street Suite 303, 156 Military Road

Ingham, Lincolnshire, LN1 QYQ, UK Neutral Bay NSW 2089 Australia

Tel: +44 (0) 844 880 5302, Tel: +61 2 8968 2200

Fax: +44 (0) 152 273 0379 Email: aushelpdesk@plumproducts.com
customerservices@plumproducts.com www.plumplay.com.au

www.plumproducts.com

Copyright Plum Products 2013



l’l/pl/“/

SAFETY INSTRUCTIONS

WARNING!

Minimum user age 3 years

Not suitable for children under 36 months — small parts, choking hazard, fall hazard

Adult supervision recommended at all times

Maximum user age 10 years

Only for domestic use

Outdoor use only

Maximum user weight per swing 50kgs

Swing seats must be a minimum of 350mm above the ground

Place on a level surface at least 2m from any structure or obstruction

Must not be installed over concrete, asphalt or any other hard surface

Remember to keep these instructions in a safe place for future reference

The anchor is to be fitted to prevent any lifting of the frame during use

It is advised that on a regular basis (i.e. at the beginning of the season and monthly thereafter) all main parts/ fixings are
checked as secure, well oiled (if metallic),have no sharp points/edges and are intact. Replace, oil and/or tighten when
necessary. Failure to do so may result in an injury or hazard.

Any attachments such as swings, chains, ropes, etc must be regularly examined for evidence of deterioration. Replace any
attachments if there are signs of deterioration. Failure to do so may result in an injury or hazard.

AVERTISSEMENT !

Age minimum de ['utilisateur 3 ans

Ne convient pas aux enfants de moins de 36 mois - petites pieces, risque d'étouffement, risque de chute

Ne jamais laisser un enfant jouer sans surveillance

Age maximum de |'utilisateur 10 ans

Usage domestique uniquement

Destiné a I'usage externe uniquement

Poids maximum de I'utilisateur par balangoire 50kgs

les sieges de balangoire doivent étre a au moins 350 mm du sol

placez sur une surface a niveau a au moins 2 m de distance d'une structure ou d'une obstruction quelconque

ne doit pas étre installée sur du béton, de I'asphalte ou d'autres surfaces dures

N'oubliez pas de garder ces instructions dans un lieu sdr pour référence ultérieure.

I'ancrage doit étre installé pour éviter que le cadre ne se souléve en cours d'utilisation

Il est conseillé d'inspecter réguli€rement (a savoir au début d'une saison et chaque mois ensuite) le bon état des parties
principales et des fixations, que tout soit bien huilé (dans le cas de pieces métalliques), a ce qu'il n'y ait rien de saillant

ce que tout soit intact. Remplacez, huilez et/ou resserrez le cas échéant. Le non suivi de ces précautions risque de blesgled
ou de poser un danger.

Tous les accessoires attachés tels que les balangoires, les chaines, cordes etc. doivent étre réguli€rement inspectés pour
déceler la présence de détériorations. Remplacez les accessoires attachés en cas de signes de détérioration. Le non suivi
de ces précautions risque de blesser ou de poser un danger.

ACHTUNG!

Das Mindestalter fir Benutzer betragt 3 Jahre

Nicht fur Kinder unter 36 Monaten geeignet — Kleinteile, Erstickungsgefahr, Sturzgefahr
Sollte nur unter unmittelbarer Aufsicht von Erwachsenen benutzt werden

Das Hdéchstalter fir Benutzer betrdgt 10 Jahre

Nur fir den Hausgebrauch

Nur zur Nutzung im Freien geeignet

Hochstgewicht des Benutzers pro Schaukel 50kgs

Schaukelsitze missen sich mindestens 350 mm iber dem FuBboden befinden

Auf einer geraden Oberflache platzieren, wobei ein Abstand von mindestens 2 m zu jedem Geb&aude oder Hindernis
gelassen werden muss

Sollte nicht Gber Beton, Asphalt oder anderen harten Oberflachen angebracht werden

"Dy,
2 ,hpl‘ Oq),
Ucts ¢



Denken Sie daran, dass Sie diese Anleitung fiir eine spatere Nutzung sicher aufbewahren

Der Anker verhindert, dass der Rahmen wéhrend der Nutzung angehoben wird

Es wird empfohlen, dass alle wichtigen Teile/Befestigungen regelmaBig (also am Anfang der Saison und danach monatlich)
darauf Uberprift werden, ob diese sicher und gut gedlt (falls metallisch) und intakt sind, und keine scharfen Ecken und
Kanten aufweisen. Ersetzen, 6len und/oder ziehen Sie die Teile fest, wenn nétig. Wenn Sie dies nicht tun, kann dies zu
Verletzungen oder Gefahren fihren.

Jegliche Befestigungen wie Schaukeln, Ketten, Seile etc. missen regelmaBig auf Abnutzung Uberpriift werden. Ersetzen Sie
jegliche Befestigungen, wenn diese Abnutzungen aufweisen. Wenn Sie dies nicht tun, kann dies zu Verletzungen oder
Gefahren fihren.

ATTENZIONE!

Eta minima dell'utente 3 anni.

Non adatto a bambini al di sotto dei 36 mesi. Contiene pezzi piccoli. Pericolo di soffocamento.

Si raccomanda sempre la supervisione di un adulto.

Eta massimo dell'utente 10 anni.

Solo per uso domestico.

Solo per uso esterno.

Non adatto a bambini al di sotto dei 36 mesi. Pericolo di caduta.

Peso massimo dell'utente per altalena 50kgs

| sedili dell'altalena devono trovarsi ad almeno 350 mm dal suolo.

Posizionare su una superficie piana, ad almeno 2 metri da qualsiasi struttura o ostruzione.

Non deve essere installata sul cemento, I'asfalto o qualsiasi altra superficie dura.

Ricordarsi di conservare le presenti istruzioni in un luogo sicuro per consultazione futura.

L'ancora deve essere montata, per impedire eventuali sollevamenti del telaio durante I'utilizzo.

Si consiglia, su base regolare (ad es. all'inizio della stagione e una volta al mese dopo di allora), di verificare che tutte le
parti/I'equipaggiamento principali siano sicuri, ben oliati (se metallici), non presentino punte/bordi taglienti e siano intatti. Se
necessario, sostituire, oliare e/o serrare. La mancata osservanza di queste indicazioni potrebbe comportare infortuni o
pericoli.

Qualsiasi elemento fissato, come altalene, catene, corde, ecc. deve essere regolarmente esaminato alla ricerca di segni di
deterioramento. Sostituirlo se presenta segni di deterioramento. La mancata osservanza di queste indicazioni potrebbe
comportare infortuni o pericoli.

WAARSCHUWING!

Minimum leeftijd van gebruiker: 3 jaar

Niet geschikt voor kinderen jonger dan 36 maanden — kleine onderdelen, verstikkingsgevaar

Toezicht van een volwassene te allen tijde aanbevolen

Maximum leeftijd van gebruiker: 10 jaar

Alleen voor gebruik binnenshuis

Alleen voor gebruik buiten

Niet geschikt voor kinderen jonger dan 36 maanden — valgevaar

Maximum gewicht van gebruiker per schommel 50kgs

Schommels dienen zich minimaal 350mm boven de grond te bevinden.

Plaats op een vlakke ondergrond, op minimaal 2m afstand van andere structuren of obstakels.

Niet installeren op beton, asfalt of enig ander hard opperviak.

Bewaar deze instructies op een veilige plaats zodat u ze later kunt raadplegen.

Het anker dient aangebracht te worden om te voorkomen dat het frame tijdens gebruik opgetild wordt.

Wij bevelen u aan regelmatig (d.w.z. aan het begin van het seizoen en daarna maandelijks) te controleren dat alle
hoofdonderdelen/bevestigingen stevig vast zitten, goed geolied zijn (indien van metaal), geen scherpe punten/randen
hebben en niet kapot zijn. Wanneer nodig vervang onderdelen, breng olie aan en/of draai bevestigingen stevig vast.
Nalatigheid kan letsel of gevaar als gevolg hebben.

Alle bevestigingen, zoals schommels, kettingen, touwen, etc., dienen regelmatig gecontroleerd te worden op tekenen van
slijtage. Indien nodig dienen deze vervangen te worden. Nalatigheid kan letsel of gevaar tot gevolg hebben.



l’l/pl/“/

AVERTENCIA

Edad minima del usuario 3 afios

No es conveniente para niflos menores de 36 meses, ya que posee partes pequenas que podrian causar asfixia.

Se recomienda en todo momento la supervisiéon de un adulto.

Edad maxima del usuario: 10 afios

Utilicese exclusivamente en el ambito doméstico.

Utilicese exclusivamente al aire libre.

No es conveniente para nifios menores de 36 meses: peligro de caidas.

Peso maximo del usuario en cada columpio: 50kgs

Los asientos del columpio deben estar a una distancia minima del suelo de 350mm.

Coléquelo en una superficie plana y a una distancia minima de 2m de cualquier estructura u obstaculo.

No debe instalarse sobre superficies asfaltadas ni cementadas ni sobre cualquier otra superficie dura.

Recuerde conservar estas instrucciones en un lugar seguro para poderlas consultar en el futuro.

Debe instalarse el anclaje para evitar que la estructura se levante mientras se esté utilizando.

Se aconseja comprobar regularmente (por ejemplo al principio de la temporada y, posteriormente, una vez al mes) que
todas las partes/fijaciones estén bien sujetas, lubricadas (si son metdlicas) e intactas y no presenten puntos ni bordes
afilados. Sustituya, lubrique o apriete las partes/fijaciones segun sea necesario. De no hacerlo, esto podria resultar en
lesiones o situaciones peligrosas.

Debe comprobarse regularmente que los componentes como columpios, cadenas, cuerdas, etc. no presenten signos de
deterioro. En caso de que algin componente presente signos de deterioro, sustitiyalo. De no hacerlo, esto podria resultar
en lesiones o situaciones peligrosas.

VAROVANI!

Minimalni vék uzivatele je 3 let

Neni vhodné pro déti mladsi 36 mésicu — drobné soucasti, nebezpeci uduseni

Doporucuje se po celou dobu dozor dospélé osoby

Maximalni vék uzivatele je 10 let

Pouze pro domaci pouziti

Pouze pro venkovni pouZziti

Neni vhodné pro déti mladsi 36 mésict — nebezpeci padu

Maximalni hmotnost uzivatele na houpacku 50kgs

sedadla houpacky museji byt minimalné 350 mm nad zemi

Umistéte na rovny povrch alespon 2 m od jakékoliv konstrukce ¢i prekazky

Nesmi se instalovat nad betonovym, asfaltovym nebo jakymkoliv jinym tvrdym povrchem

Nezapomente si uschovat tyto pokyny na bezpe¢ném misté pro potreby budoucich odkazu

Je nutno nainstalovat kotvu, aby se zabranilo jakémukoliv zdvihu rdmu pfi pouzivani

Doporucuje se, aby vSechny hlavni dily/upevnovaci prvky byly pravidelné kontrolovany (napf. na zac¢atku sezény a pak
jednou za mésic), zdali jsou radné zajistény, dobfe namazany (u kovovych prvki) a zdali nemajit zadné ostré body/hrany a
zdali jsou kompletni. V piipadé potreby je vyménte, namazte a/nebo utahnéte. Pokud tak neucinite, maze to vést k Urazu ¢i
ohrozeni.

VSechna pfislu$enstvi, jako napf. houpacky, retézy, lana, atd., je nutno pravidelné kontrolovat, zda nevykazuji pfiznaky
opotiebeni. Vyménte jakakoliv prislusSenstvi, jestlize zjistite pfiznaky opotrebeni. Pokud tak neucinite, maze to vést k Urazu i
ohrozeni.

UPOZORNENIE

Minimalny vek pouzivatela je 3 rokov

Nevhodné pre deti mladsie ako 36 mesiacov - malé ¢astice, riziko zadusenia.

Dozor dospelej osoby sa odporuca po celi dobu

Maximalny vek pouzivatela je 10 rokov

Iba pre domace pouZzitie

Iba pre vonkajsie pouzitie

Nevhodné pre deti mladsie ako 36 mesiacov - riziko padu

Maximalna hmotnost pouzivatela na jednu hojdacku 50kgs

hojdacie sedadla musia byt minimalne 350 mm nad zemou

"umiestnite na rovnom povrchu minimalne 2 m od akejkolvek konstrukcie alebo prekazky "

"nesmie sa indtalovat nad beténovym, asfaltovym alebo inym tvrdympovrchom"

Nezabudnite si uschovat tieto pokyny na bezpe¢nom mieste pre buduice pouZitie

kotva musi byt naindtalovana, aby sa zabranilo zabranilo akémukolvek zdvihnutiu ramu pocas pouzivania

Odporuca sa pravidelna kontrola (napr. na zac¢iatku sezdény a potomo mesiac) hlavnych ¢asti/upevneni, ¢i su zaistené, dobrr
naolejované (ak su kovové), ¢i na nich nie su ostré body/rohy a ¢i su kompletné. V pripade potreby ich nahradte, naolejujte
a/alebo utiahnite. Zanedbanie takejto ¢innosti méze mat za nasledok Uraz alebo iné nebezpecenstvo.

VSetky pridavné zariadenia ako hojdacky, retaze, lana a pod. musia byt pravidelne presku$ané ¢i nevykazuju priznaky
opotrebenia. VSetky zariadenia vykazujuce priznaky opotrebenia vymerite. Zanedbanie takejtoc¢innosti méze mat za

"Dy,
4 ,hpl‘ Oq,
Ucts ¢



Qt}‘é)!
UZ> 1y J;J) Urwo‘lzr 3
J) \5\-’”‘){ J\u‘of\€ JbCal] 55036 on d‘k&z PR 'C.LJ U\ZQO\‘:’
S0P PP a7 IS e 2o B2 o £ o3 Il 1zals
UC; BIENE; J&U Uwﬂc;t;?lo
JJb»Q'::\r UM':J&; Sab
JdI uﬂ.:)‘cﬂr S eyl bds Gab
N soedr oozl IO 55036 (g prll, \Wassp
UCA Wises Jsio va'”&tjf g0 ) Cj)a idd PO Uc;n\)'SOkgs
TN REPR) U-Cs 1o J(\yis Uaba 350 pp 2503 U’“‘X’Z 12
o2 ;de I a U(_',\ts &jg wLC s J g3 Fo2s q@_ﬂ;;ﬂ’&) waz Idasldd T, Ub\gé

o £ Szomw oo G by Uroogs T Wimadags: 1 Ul ¢ dond® Uizss
porsedr
lzor pds o3, 255 UQC‘;JU; i opdeplo Gl Teo JJ L7y e
é)\zé Oyl s lJososgs ;.JUEA\)‘ JNK;@( ch‘é_ﬂ 1Je, U(@O«é g0 U\Jrf)t—“r
Soorg Mash w200 (s oosd Ul o2 23l Upsoee g0 A iy Sl Sroe st Wit sasli Uoowuo JlUorss ro

Sl sl A Wi (31 900 pomaps po UDIO) S oy 730 573 0 s Wigle 5 I spdponel 17500 s nooald Wby

iy Sz Ty jobal Clrde o 1oz s gl o £ Wl wpid 2 Wlesy 32 Gogp gl oo loelalo 1y o ) JJ@L 38
géj\ié s o s, s id‘ﬁ UTC)‘\; \Jrjc;s,:s ‘»\_)J UOUCJ WJod i jﬂqu\d 3'&_5) 3J4 J\CQ(U\;) 57 QRENY Odceal PR Aol UTC)‘\; Urcj&:s
X CU Loy, el s2d zjd Sdeal. d Uﬁdf Slogy Wagl w34 32 $O7r OB 7o \elolo iy \’.C\LJ‘

OSTRZEZENIE!

Minimalny wiek uzytkownika: 3 lat

Nie nadaje sie dla dzieci w wieku ponizej 36 miesiecy — mate elementy, ryzyko zadtawienia

Zalecany jest staty nadzér osoby dorostej

Maksymalny wiek uzytkownika: 10 lat

Tylko do uzytku domowego

Tylko do stosowania na dworze

Nie nadaje sie dla dzieci w wieku ponizej 36 miesiecy — ryzyko upadku

Maksymalna waga uzytkownika na jedng hustawke 50kgs

siedzenie hustawki musi sie znajdowac co najmniej 350 mm nad podfozem

umiescic na ptaskiej powierzchni, w odlegtosci co najmniej 2 m od budynkéw i przeszkéd

nie nalezy instalowa¢ nad betonem, asfaltem i innymi twardymi nawierzchniami

Pamigtaj, zeby niniejsze instrukcje zachowaé w bezpiecznym miejscu na przysztos¢

kotwice trzeba zamocowag, zeby podczas uzytkowania rama nie unosita sie

Zaleca sig regularne (tzn. na poczatku sezonu, a nastgpnie raz na miesigc) kontrolowanie wszystkich najwazniejszych
czesci i mocowan, w celu upewnienia sig, ze sg bezpieczne, dobrze nasmarowane (w przypadku elementéw metalowych),
nie majg ostrych zakonczen/krawedzi i sg nieuszkodzone. W razie potrzeby nalezy je wymieni¢, nasmarowac i/lub poprawié
mocowanie. W przeciwnym razie moze dojs¢ do obrazen ciata lub sytuacji niebezpiecznych.

Nalezy regularnie sprawdzac stan techniczny wszystkich elementéw takich jak hustawki, tanicuchy, liny itp. W razie
stwierdzenia uszkodzen lub oznak zuzycia nalezy wymieni¢ dany element. W przeciwnym razie moze doj$¢ do obrazen ciata
lub sytuacji niebezpiecznych.

ADVARSEL!

Minimum brugeralder 3 &r

Ikke egnet til bern under 36 maneder - sma dele, fare for kvaelning

Ber altid anvendes under opsyn af en voksen

Minimum brugeralder 10 ar

Kun til hjemmebrug

Kun til udendgrs brug

Ikke egnet til bern under 36 maneder - faldfare

Maksimum brugervaegt pr. Gynge 50kgs

Gyngesader skal veere minimum 350 mm over jorden.

Placeres pa en jeevn overflade, mindst 2 m fra bygninger eller andre forhindringer.
Ma ikke installeres over beton, asfalt eller andre harde overflader.

Husk at gemme disse vejledninger pé et sikkert sted for fremtidig brug.

Ankeret skal fastgeres, sa det undgas, at rammen lgfter sig under brug.

Det anbefales at tjekke regelmeessigt (f.eks. i starten af seesonen og derefter hver maned), at alle hoveddele/fastgerelser er

sikre, velsmurte (hvis de er af metal), ikke har skarpe punkter/kanter og er intakte. Udskift, smer og/eller stram efter om o
9
\‘a'(‘

A

(®)

W p\\)‘“p‘ >
WY



sikre, velsmurte (hvis de er af metal), ikke har skarpe punkter/kanter og er intakte. Udskift, smer og/eller stram efter om
nedvendigt. Sker dette ikke, kan resultatet blive personskade eller fare.

Alle fastgerelser sdsom gynger, kaeder, reb osv. skal regelmeessigt underseges for tegn pa nedbrydning. Udskift
fastgerelser, hvis der er tegn pa nedbrydning. Sker dette ikke, kan resultatet blive personskade eller fare.

UYARI!

Minimum kullanici yasi 3 yil

36 ayliktan kiiguk ¢ocuklar i¢in uygun degildir — kiigik pargalar, bogulma tehlikesi

Her zaman yetiskin gézetimi dnerilir

Maksimum kullanici yagsi 10 yil

Yalnizca ev kullanimi i¢in

Yalnizca dis mekan kullanimi

36 ayliktan kiiguk ¢ocuklar i¢in uygun degildir — disme tehlikesi

Salincak basina maksimum kullanici agirhg 50kgs

salincak koltuklari yerden en az 350 mm yukarida olmalidir

herhangi bir yapidan veya engelden en az 2 m uzakta diiz bir zemine yerlestirin

beton, asfalt veya herhangi diger bir sert zemin tzerine kurulmamalidir

ileride bakabilmek icin bu aciklamalan giivenli bir yerde saklamayi unutmayin

kullanim sirasinda gergevenin kalkmasini dnlemek icin demir sabitlenmelidir

TUm ana pargalarnn/ tespit elemanlarinin giivenli, (metalikse) iyi yaglanmis oldugunu, keskin noktalar/kenarlar olmadigini ve
saglam oldugunu gérmek igin diizenli olarak (mevsim basinda ve sonra her ay) kontrol edilmeleri dnerilir. Gerektiginde
degistirin, yaglayin ve/veya sikilastirin. Bunlarin yapilmamasi yaralanmaya veya tehlikeye yol agabilir.

Salincak, zincir, halat vs. gibi ekler bozulma belirtisi olup olmadigini gérmek i¢in diizenli olarak incelenmelidir. Bunlarin
yapllmamasi yaralanmaya veya tehlikeye yol acabilir.

FIGYELMEZTETES!

Minimalis felhasznalok kora3 év

Nem alkalmas 36 hénapnal fiatalabb gyerekek szamara - apré részek, fulladasveszély

Minden alkalommal egy felnétt felligyelete mellett ajanlott

Maximalis felhasznalok kora 10 év

Csak otthoni hasznalatra

Kultéri hasznalatra

Nem alkalmas 36 hénapnal fiatalabb gyerekek szamara - esési veszély

Max. terhelhetdség egy hintazashoz 50kgs

a hinta Uléseinek legalabb 350mm a f6ld felett kell lennlk

helyezze egy vizszintes felllletre, legalabb 2 m-re barmely épitménytdl vagy akadalytél

nem telepithet6 betonra, aszfaltra vagy barmely mas kemény fellletre

helyénvalé6 lehet, hogy a csuszda nagy részében ne nézzen anap felé, hogy a cslszda felszine ne legyen kellemetlentl
meleg

Ne feledje, hogy ezeket az utasitasokat biztonsagos helyen tartsa késébbi hasznalat esetére

a horgonyt ugy kell felszerelni, hogy a hasznalat kdzben a vaz ne emelkedjen

Azt ajanljuk, hogy a rendszeres haszndlat alatt (vagyis a szezon elején, majd azutan havonta) valamennyi fé6bb
rész/szerelvény biztositva legyen, jol olajozva (ha fém), hogy ne legyenek éles részek és, hogy sértetlen legyen. Cserélje ki,
olajozza és/vagy tegye feszesebbé ha sziikséges. Ennek elmulasztasa sérilést vagy veszélyt okozhat.

Minden felszerelést, példaul hintat, lancokat, kdteleket, stb. rendszeresen meg kell vizsgalni minéségromlas szempontjabal.
Cseréljen ki minden mellékletet, ha a minéségromlasnak jeleitalalhatok. Ennek elmulasztasa sérilést vagy veszélyt okozhat.

Remember to keep these instructions in a safe place for future reference.

Ly,
6 ,hpl‘ Oq),
uCts @



WOOD: PARTS LIST

PART ID DIMENSIONS WITH GRAPHIC QUANTITY
D1909 2
600 x 68 x 28 mm
D1904 4
2195 x68 x44 mm
D1910 . 3 1
\ 1550 x 88 x 44 mm |
HARDWARE: PARTS LIST
PART ID DIMENSIONS WITH GRAPHIC QUANTITY

40mm

M7 OO x4 4 M6xd0 |

x4 4 HI7(©) x4
M6

DA14 x4 | BLACK CAP @ x4
Ho5 2
M8 x 70 (BOLT) Z0mm 4
———14
M8 x 65 (BOLT) e 4
M8 x 150 (BOLT) —somm 2
M8 WASHER ) 16
M8 SPRING WASHER @) 4
M8 SAFETY NUT e/ 6
M8 T-NUT g?g 4

TOOLS
REQUIRED:

)

10,13,14,17mm




D1904

° X2
\ 2195 x 68 x 44 mm ‘
D1910 | 1 xi
\ 1550 x 88 x 44 mm |
M8x150 I 1 x1
|- 150mm |
M8 Washer (&) x2

M8 SAFETY NUT @-' X1

D1904

M8x70 1y
|~ 70mm |

M8 Washer (&) x4
menuT (T x2




M8 T-NUT x2  D1909

600 x 68 x 28 mm |

M8 x 65

| 65mm |
M8WASHER (&)

M8 SPRING WASHER @

X1

x2




D1904 . X2
o | 2195 x 68 x 44 mm ‘

M8x150 H——— 1 x1
150mm

M8WASHER (&) X2

M8 NUT |©=1 X1

U]

ME

T

7°f

163 & a

M8x70 I 1 y2
70mm

M8WASHER (&) x4
M8 SAFETY NUT @-' %2




D1909/ - ° x1
| 600 x 68 x 28 mm |

MBWASHER (&) x2 M8x65 1 x2
L 6smm |

65mm

S
M8 T-NUT x2 M8 SPRING WASHER (25) x2










25mm

Concrete
in hole

Concrete

Thank you for purchasing a Plum Product. Product safety and customer satisfaction are our priorities and

we value your opinion. If you could spare two minutes to complete the customer feedback survey at
http://www.plumproducts.com/feedback we would appreciate it.



UK
Plum Products Warranty

This product is guaranteed for twelve months from the date of purchase against manufacturing defects. The warranty is
conditional on proof of purchase being presented in the event of a claim.

The warranty is registered to the original owner and is non-transferable. Regular maintenance is required to ensure safety,
maximum life and performance of the product. Failure by the owner to maintain the product according to the maintenance
requirements may render this warranty void. Maintenance guidelines are in the Instruction Manual provided with the
product.

Plum Products® Ltd supplies safe, quality products. Any modifications made to the original product could damage the
structural integrity of the unit leading to failure and possible injury. Modification shall render the warranty void and Plum
Products® Ltd will accept no liability for any modified products or any consequences resulting from the failure of a modified
product.

This product is warranted for domestic use only. Under no circumstance should the product be used in public or
commercial settings such as schools or playgrounds, any such use may lead to product failure and potential injury. Any
public or commercial use will render this warranty void.

These conditions do not affect your statutory rights as a consumer.

AUSTRALIA
Plum Products Warranty

Subject to proper installation and normal residential use, Plum Products (“Plum”) play products are warranted, subject to
the limitations stated below, to the original retail purchaser or owner to be free from manufacturers defects in material or
workmanship for a period of 1 (one) year from the date of original retail purchase.

All warranties may be registered. To register your warranty please visit www.plumproducts.com and retain your proof of
purchase for the warranty period.

Goods covered under this limited warranty will be replaced or repaired, at our option, and returned to the customer at no
cost to the customer. Plum reserves the right to examine photographs or physical evidence of goods claimed to be
defective and to recover the goods prior to settling a warranty claim.

Non -residential use of the play products is prohibited and there will be no warranty for any commercial, competition or
playground use as these products are designed for residential use only. No warranty shall apply on equipment subjected to
abuse, negligence, improper installation or use, vandalism, acts of God, unauthorised alteration or attachment to other
equipment, improper use or repair by the customer or a third party.

Whilst every endeavour is made to ensure the highest degree of safety in the product, freedom from injury cannot be
guaranteed. It is essential to install correctly in accordance with installation instructions, supervise your children’s play
activity and maintain your play equipment periodically according to manufacturer guidelines.

This warranty does not cover scratching or scuffing of the product as a result of normal wear and tear and any minor
defects which do not affect the functionality of the product. This warranty is expressly in lieu of all other warranties, express
or implied given by Plum.

Your statutory rights remain unaffected. Our goods come with guarantees that cannot be excluded under the Australian
Consumer Law under which you are entitled to a replacement or refund for a major failure and for compensation for any
other reasonably foreseeable loss or damage. You are also entitled to have the goods repaired or replaced if the goods fail
to be of acceptable quality and the failure does not amount to a major one.

To make a claim please contact us immediately on our customer service number or email below.
Telephone Plum Customer Services: 1800 900161
Email: Aushelpdesk@plumproducts.com

All claims must be made within 14 days of purchase or within a reasonable time of awareness of defect and must be
accompanied by proof of purchase. Please therefore retain proof of purchase. Plum may reject claims which are not made
within a reasonable time and/or where there is no proof of purchase. Plum will meet the cost of all agreed and validated
claims.

Thank you for purchasing our product.
Plum Products Australia Pty Ltd, PO Box 1014, Spit Junction, Sydney, NSW 2088, Australia









cLoL4s8v.al



	27379_01_Instructions_Front_Page_A
	27379_02_Instruction_safety_inst
	27379_03_Instruction_safety_inst
	27379_04_Instruction_safety_inst
	27379_05_Instruction_safety_inst
	27379_06_Instruction_safety_inst
	27379_07_Instructions_Parts_List
	27379_08_Instructions_01
	27379_09_Instructions_03
	27379_10_Instructions_05
	27379_11_Instructions_07
	27379_12_Instructions_09
	27379_13_Instructions_11
	27379_14_Instructions_13
	27379_15_Instructions_extra_page
	27379_16_Instruction_last_Page



